Supplemental material for Math 4130, HW 6

#1: The group G = 9y, constructed as a sequence of abelian exten-
sions, from “top-to-bottom”: G = Gy > G1 > Gy B> G = (1).
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#1: The group G = 5y, constructed as a sequence of abelian exten-
sions, from “bottom-to-top”: (1) = G31Gy, <G 4Gy =G.
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#2: The group G = D3 x (Y4, constructed as a sequence of abelian
extensions, from “top-to-bottom”™: G =G> G > Gy > Gy = (1).
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#2: The group G = D3 x (Y4, constructed as a sequence of abelian
extensions, from “bottom-to-top”: (1) = G3 I Gy I G I Gy = G.
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#2: The group G = Qg x Cy, constructed as a sequence of abelian
extensions, from “top-to-bottom”™: G =Gy > G > Gy > Gy = (1).
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#2: The group G = Qg x Cy, constructed as a sequence of abelian
extensions, from “bottom-to-top”: (1) = G3 I Gy I G I Gy = G.
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